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Aufgaben-Quickname: 7433
Aufgabe 1
Berechne.
1 9 11 10 1 17 11 3 7
a) 7445+ 19 b) 35—+ ¢) 1538~ 19
5 12 5 4 1 11 11 2 1
d) 37 +37 -3 ¢ 33— 3+ 1 f) ss—5+53
3 1 1 5 18 11
g f1t+t3tor h) m+m+m
Aufgabe 2
Berechne.
9 97 9 33 9 .69 6 41
a) 155 — 50— %0 — 59 b) m+ogr—7
8 4 40 70 3 7 1 9
Aufgabe 3
Berechne.
43 . 23 4,7 92 | 34 20 |, 55
a) —5+m b) T+3 C) Tj'f‘v d) §7+57[
29 33 35 44 13 51 47 25
) 35+ 7 f) 3+ g8 Tt h) §1+3
. 17 29 41 71
) 15+ 09 i) 3t
Aufgabe 4
Berechne.
13 5 .25, 36 37 1 13 1 95 1,93, 6
a) H-matata b) 100~ 5 — 100 — 10 ) 515t HB 5
20 3 2 1 1 1 3 39 1 1 1 1
d) 519191 13 e -7t 15t TG ) 3-w0—5—1
%<3 5} 1 1 5 11 13 16 3 7 5} 10
8) ST 99 h) s9+35— 29+ 29 ) 339t 7wt
20, 67 39 25
) o tor— o7 o7
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Viel Erfolg]!
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